

Multiplication Grids (a)


	1 x 11 = 11

Approximate Answer: 1 x 10 = 10

	12 x 2 = 

Approximate Answer:___________



	18 x 2 = 

Approximate Answer:___________


	13 x 2 = 

Approximate Answer:___________



	19 x 2 = 

Approximate Answer:___________


	16 x 2 = 

Approximate Answer:___________



	14 x 2 = 

Approximate Answer:___________


	17 x 2 = 

Approximate Answer:___________



	15 x 2 = 

Approximate Answer:___________


	12 x 3 = 

Approximate Answer:___________





Multiplication Grids (b)


	12 x 5 = 60

Approximate Answer: 10 x 5 = 50

	17 x 5 = 

Approximate Answer:___________



	18 x 6 = 

Approximate Answer:___________


	13 x 4 = 

Approximate Answer:___________



	19 x 3 = 

Approximate Answer:___________


	18 x 4 = 

Approximate Answer:___________



	14 x 6 = 

Approximate Answer:___________


	17 x 4 = 

Approximate Answer:___________



	19 x 3 = 

Approximate Answer:___________


	19 x 5 = 

Approximate Answer:___________





Multiplication Grids (c)


	12 x 5 = 60

Approximate Answer: 10 x 5 = 50

	46 x 4 = 

Approximate Answer:___________



	3 x 29 = 

Approximate Answer:___________


	59 x 4 = 

Approximate Answer:___________



	61 x 5 = 

Approximate Answer:___________


	7 x 14 = 

Approximate Answer:___________



	83 x 4 = 

Approximate Answer:___________


	91 x 4 = 

Approximate Answer:___________



	82 x 8 = 

Approximate Answer:___________


	78 x 6 = 

Approximate Answer:___________





Multiplication Grids (d)


	124 x 5 = 620

Approximate Answer: 120 x 5 = 600

	347 x 4 = 
Approximate Answer:______________



	229 x 3 = 
Approximate Answer:______________


	259 x 4 = 
Approximate Answer:______________



	161 x 5 = 
Approximate Answer:______________


	148 x 7 = 
Approximate Answer:______________



	791 x 4 = 
Approximate Answer:______________


	582 x 8 = 
Approximate Answer:______________



	678 x 6 = 
Approximate Answer:______________


	693 x 7 = 
Approximate Answer:______________





Multiplication Grids (Extension)


	1142 x 5 = 620

Approximate Answer: 1100 x 5 = 5500

	1211 x 2 = 
Approximate Answer:________________



	1212 x 2 = 
Approximate Answer:________________


	1437 x 3 = 
Approximate Answer:________________



	1542 x 3 = 
Approximate Answer:________________


	1599 x 4 = 
Approximate Answer:________________



	2145 x 4 = 
Approximate Answer:________________


	2542 x 5 = 
Approximate Answer:________________



	2451 x 5 = 
Approximate Answer:________________


	3564 x 6 = 
Approximate Answer:________________
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